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Problem (2)
Tn the circuit of Fig (2), ﬁnd the followmﬁ

() R, wmich will receive ma;ézmum poWer.
(b) The value of the ma):lmum power transferred to Ry -
(c) Norton equivalent circait between terminals of resistor Ry
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. Problem' 4
Tn the circuit shown int Fig (4) and
(2)The currentsl,./ wdesand, I

: domain.
(b)Phase shift between each current in part (a) above and the

- yelevant voltage across gach element these currents are passing
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]?rablem 2:

Use mesh analysis method fo find the two currents iyp and i3 in the circuit of
Fig. (2)
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Frobliem 3:

Use nodal analysis method to find v, in the circuit shown in Fig. 3).
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Probles: 2} - .

. Yn the cirenit of Fig (2), use Mesh Anslysis method to determine the
_powver associated with the (22 V) voltage somrce and state whether this

spmree Is delivering of absorbing/power. "
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Kaizen Team

Problem 2:

The variable resistor in the circuit in Fig. (2) is adjusted for maximum power
transfer to R,.
What is the value of this max. power?
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Problem (3) o ‘ :
T the circuit shown in Fig (3), use Superposition Principle to find the ‘ ‘f*».;f
‘eurrent i, and the power developed in the dependent voltage souxce. -
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